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T8 A 2.6 2.7 2.8D%ET—4

KA1 /v DfE (H2.6)
(@) s=2
R ”
5 10 25 50 80

0.6 0.994 0.995 0.995 0.995 0.994

0.8 0.930 0.942 0.951 0.947 0.939

0.9 0.873 0.886 0.899 0.894 0.883

1 0.811 0.825 0.838 0.833 0.820

1.1 0.752 0.762 0.776 0.773 0.760

1.2 0.701 0.705 0.718 0.716 0.704

1.6 0.555 0.550 0.549 0.546 0.537

2 0.463 0.456 0.449 0.442 0.433

2.5 0.385 0.377 0.368 0.360 0.352

3 0.332 0.326 0.316 0.307 0.299

(b) s=
R "

5 10 25 50 100 200
0.6 0.995 0.991 0.991 0.991 0.991 0.992
0.8 0.938 0.939 0.941 0.943 0.946 0.944
0.9 0.879 0.892 0.891 0.894 0.895 0.890
1 0.813 0.840 0.836 0.835 0.834 0.825
1.1 0.746 0.791 0.784 0.781 0.777 0.766
1.2 0.686 0.743 0.734 0.729 0.722 0.708
1.6 0.528 0.595 0.578 0.564 0.552 0.534
2 0.433 0.494 0.486 0.461 0.448 0.429
2.5 0.357 0.388 0.395 0.379 0.366 0.349
3 0.306 0.304 0.341 0.327 0.315 0.301
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(c) s=

»s

5 10 25 50 100 200
0.6 0.991 0.990 0.993 0.991 0.990 0.990
0.8 0.915 0.926 0.946 0.952 0.947 0.941
0.9 0.850 0.868 0.900 0914 0.900 0.886
1 0.780 0.805 0.842 0.867 0.845 0.825
1.1 0.713 0.745 0.780 0.819 0.791 0.765
1.2 0.654 0.692 0.721 0.772 0.740 0.712
1.6 0.502 0.543 0.544 0.614 0.579 0.549
2 0411 0.449 0.442 0.502 0.474 0.447
2.5 0.339 0.372 0.365 0.414 0.392 0.371
3 0.292 0.316 0.315 0.356 0.339 0.323
F=A2 r/r.DIE (B2.7)
(@) s=2
R "
5 10 25 50 100 200

0.6 0.997 0.997 0.997 0.997 0.999 0.999
0.8 0.957 0.959 0.966 0.973 0.990 0.987
0.9 0.901 0.903 0914 0.930 0.954 0.949
1 0.832 0.832 0.844 0.862 0.901 0.894
1.1 0.762 0.759 0.764 0.780 0.834 0.825
1.2 0.702 0.695 0.694 0.704 0.763 0.753
1.6 0.543 0.533 0.520 0.514 0.553 0.545
2 0.450 0.442 0.429 0.419 0.439 0.434
2.5 0.374 0.368 0.359 0.350 0.355 0.353
3 0.319 0.312 0.307 0.303 0.299 0.300
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(b) s=

Vs
K 5 10 25 50 100 200
0.6 0.998 0.998 0.998 0.999 0.999 0.999
0.8 0.968 0.971 0.977 0.992 0.988 0.985
0.9 0918 0.922 0.937 0.960 0.951 0.948
1 0.854 0.859 0.875 0.907 0.898 0.898
1.1 0.787 0.788 0.799 0.845 0.837 0.841
1.2 0.726 0.722 0.726 0.777 0.770 0.776
1.6 0.558 0.548 0.534 0.534 0.556 0.556
2 0.459 0.449 0.433 0.448 0.438 0.434
2.5 0.382 0.374 0.359 0.365 0.358 0.352
3 0.332 0.325 0.312 0.313 0.308 0.301
(c) s=
R al
5 10 25 50 100 200

0.6 0.998 0.998 0.998 0.999 0.999 0.999
0.8 0.968 0.971 0.978 0.991 0.987 0.984
0.9 0.917 0.922 0.937 0.957 0.948 0.947
1 0.854 0.859 0.876 0.904 0.897 0.900
1.1 0.788 0.789 0.801 0.843 0.838 0.847
1.2 0.728 0.726 0.731 0.777 0.777 0.791
1.6 0.562 0.553 0.543 0.572 0.574 0.587
2 0.462 0.454 0.440 0.453 0.452 0.459
2.5 0.387 0.378 0.365 0.371 0.368 0.371
3 0.337 0.329 0.317 0.322 0.319 0.319
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FA3 i/t DIE (] 2.8)

(a) s=2
R "
5 10 25 50 100 200
0.6 0.998 0.998 0.998 0.998 0.998 0.999
0.8 0.963 0.964 0.979 0.982 0.991 0.987
0.9 0.908 0.910 0.932 0.932 0.938 0.947
1 0.836 0.837 0.859 0.873 0.877 0.875
1.1 0.761 0.758 0.772 0.771 0.778 0.770
1.2 0.695 0.704 0.693 0.693 0.701 0.679
1.4 0.595 0.597 0.574 0.577 0.569 0.548
1.6 0.524 0.514 0.495 0.493 0.483 0.465
1.8 0.471 0.470 0.440 0.435 0.422 0.408
2 0.429 0.419 0.398 0.391 0.378 0.366
2.5 0.354 0.345 0.323 0.316 0.302 0.294
3 0.302 0.295 0.271 0.264 0.251 0.244
(b) s=
R al
5 10 25 50 100 200

0.6 0.998 0.999 0.999 0.998 0.999 0.999
0.8 0.971 0.986 0.983 0.982 0.989 0.985
0.9 0.920 0.943 0.940 0.941 0.954 0.943
1 0.854 0.875 0.872 0.873 0.886 0.867
1.1 0.781 0.796 0.789 0.786 0.792 0.765
1.2 0.714 0.720 0.710 0.704 0.700 0.672
1.4 0.611 0.604 0.589 0.579 0.567 0.542
1.6 0.537 0.523 0.496 0.495 0.479 0.457
1.8 0.482 0.465 0.449 0.436 0.420 0.401
2 0.439 0.422 0.405 0.392 0.377 0.360
2.5 0.362 0.346 0.329 0.316 0.304 0.291
3 0.284 0.297 0.276 0.264 0.254 0.242
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(c) s=

»s

. 5 10 25 50 100 200
0.6 0.998 0.998 0.999 0.998 0.999 0.999
0.8 0.971 0.986 0.984 0.983 0.990 0.986
0.9 0.920 0.942 0.940 0.941 0.954 0.944
1 0.853 0.855 0.871 0.872 0.885 0.869
1.1 0.781 0.795 0.788 0.785 0.791 0.767
1.2 0.716 0.720 0.710 0.704 0.701 0.677
1.4 0.613 0.606 0.591 0.582 0.574 0.565
1.6 0.540 0.531 0.511 0.500 0.485 0.466
1.8 0.484 0.468 0.453 0.441 0.425 0.409
2 0.441 0.424 0.409 0.396 0.377 0.367
2.5 0.363 0.347 0.334 0.322 0.312 0.300
3 0.311 0.299 0.285 0.274 0.268 0.256
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18k B TR ROME I
(@) s=
bt b/t b t b, tr
(mm) | (mm) | (mm) | (mm) | (mm)
25 26.1 23.0 57.8 9.2
30 31.1 19.3 50.2 8.0
40 412 14.5 40.8 6.5
50 513 11.7 345 55
60 614 9.8 30.1 4.8
70 71.5 600 8.4 27.0 43
80 81.6 7.3 24.5 3.9
100 101.8 59 20.7 33
120 122.0 4.9 18.2 2.9
150 1523 3.9 15.1 24
175 177.6 34 13.8 2.2
(b) s=
bt bt b t b, tr
(mm) (mm) (mm) (mm) (mm)
29 344 17.5 72.2 11.5
40 45.7 13.1 571 9.1
50 56.1 10.7 49.0 7.8
60 66.4 9.0 42.7 6.8
70 76.7 7.8 383 6.1
80 87.1 6.9 345 55
90 974 600 6.2 314 5.0
100 107.8 5.6 28.9 4.6
120 128.4 4.7 25.1 4.0
150 159.5 3.8 21.4 34
170 180.1 33 19.5 3.1
200 211.2 2.8 17.0 2.7
222 2339 2.6 15.7 2.5
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bt b/t b t b, t

(mm) | (mm) | (mm) | (mm) | (mm)

29 43.6 13.8 82.9 13.2
40 554 10.8 68.5 10.9
50 66.2 9.1 59.0 9.4
60 76.9 7.8 52.8 8.4
80 98.4 6.1 42.7 6.8
100 119.8 600 5.0 364 5.8
120 141.3 4.2 314 5.0
150 173.5 35 26.4 4.2
180 205.7 2.9 232 3.7
220 248.6 24 19.5 3.1
263 2947 2.0 17.0 2.7
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8% C 3.2 DHIET—4

(a) s=2
alb=1 alb=4 alb=8

R T/702 R T/702 R TlT02
0.40 0.999 0.52 0.999 0.53 0.999
0.48 0.999 0.62 0.999 0.63 0.998
0.64 0.998 0.82 0.985 0.84 0.983
0.79 0.980 1.03 0.898 1.04 0.885
0.95 0.916 1.23 0.775 1.25 0.750
1.11 0.839 1.43 0.675 1.46 0.644
1.26 0.762 1.63 0.601 1.66 0.568
1.58 0.642 2.04 0.496 2.07 0.465
1.89 0.557 2.44 0.426 2.48 0.398
2.36 0.466 3.05 0.355 3.10 0.328
2.75 0.412 3.55 0.313 3.61 0.288

TERD © a/b DEF| D R DI, kB DK (@) D bltey DAEIZXIRT 5.
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(b) s=3

alb=1 alb=4 a/b=8

R T/702 R T/702 R T/T0.2
0.53 0.999 0.69 0.999 0.70 0.999
0.71 0.998 0.91 0.991 0.93 0.992
0.87 0.995 1.12 0.940 1.14 0.924
1.03 0.987 1.33 0.830 1.35 0.801
1.19 0.963 1.53 0.711 1.56 0.666
1.35 0.920 1.74 0.621 1.77 0.573
1.51 0.867 1.95 0.556 1.98 0.507
1.67 0.811 2.16 0.503 2.19 0.457
1.99 0.715 2.57 0.430 2.61 0.388
2.47 0.599 3.19 0.360 3.24 0.316
2.79 0.542 3.60 0.327 3.66 0.289
3.27 0.473 4.22 0.289 4.30 0.253
3.62 0.435 4.68 0.264 4.76 0.230

FRD : a/b DEF|D R DEIL, 8B DI (b) D b/te, DEIZKTIET 5.

(c) s=4
a/b=1 alb=4 alb=8

R Tu/T02 R /702 R /702
0.68 1.000 0.87 0.999 0.89 0.998
0.86 0.999 1.11 0.997 1.13 0.988
1.02 0.998 1.32 0.970 1.35 0.927
1.19 0.995 1.54 0.897 1.56 0.799
1.52 0.983 1.97 0.714 2.00 0.574
1.85 0.943 2.40 0.568 2.44 0.452
2.19 0.873 2.83 0.469 2.87 0.381
2.68 0.760 3.47 0.384 3.53 0.312
3.18 0.664 4.11 0.333 4.18 0.266
3.85 0.560 4.97 0.288 5.06 0.226
4.56 0.480 5.89 0.252 6.00 0.197

HERD : alb DRFHND R DIEIE, {F8%B DF (€) D bltew DIEIZX ST 5.

52



8% D 4.5 DYIET—4

(@) AwlA~1
R VulVy
1 1.117

1.5 0.911
2 0.688
3 0.495
4 0.456

4.9 0.444

(b)  Aw/A~4
R VulVy
1 1.033

1.5 0.906
2 0.639
3 0.428
4 0.345
6 0.239
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